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Question 1
Question Type: MultipleChoice

You are the Human Resources lead for the ERP implementation of ABC Corporation. You have defined the employees in Oracle Human

Resources. Select three activities that utilize the employee record. (Choose three.)

Options: 
A- Approvals

B- Asset assignment

C- Organization creation

D- Journal Entry creation

E- AutoCreate Purchase Orders

Answer: 
A, B, E

Question 2



Question Type: MultipleChoice

ABC Corp. has set up the Asset Category Key Flex field. It has also set up a Descriptive Flex field to store vehicle Information

associated with the asset category "Vehicle." Identify two correct statements (Choose two.)

Options: 
A- The setting up of the Descriptive Flex field is mandatory.

B- The Asset Category Flex field is owned by the Oracle Assets module.

C- The Descriptive Flex field attributes are associated with tables in the Oracle Assets module.

D- Only the Asset Category Key Flex field is associated with tables In the Oracle Assets module.

Answer: 
B, C

Question 3
Question Type: MultipleChoice



Indentify the component in Subledger Accounting the enables you to meet the requirements for multiple accounting representations for

an event.

Options: 
A- Event Definition

B- Event Classification

C- Subledger Accounting method

D- Application Accounting Definition

Answer: 
D

Question 4
Question Type: MultipleChoice

Event Types in Subledger Accounting Is a grouping of_______.



Options: 
A- Events

B- Accounts

C- Event Models

D- Event Entitles

E- Event Classes

Answer: 
E

Question 5
Question Type: MultipleChoice

Company ABC is implementing Oracle User Management (OUM). It has decided to implement the Self Service and Approvals access

control layer. What are the three self-service registration tasks an end user can perform? (Choose three.)

Options: 



A- Reset passwords.

B- Obtain new user accounts.

C- Request deactivation of responsibility

D- Request reports to be added to request set.

E- Request additional access to the applications

Answer: 
A, B, E

Question 6
Question Type: MultipleChoice

Identify two types of regions In Daily Business Intelligence, (Choose two.)

Options: 
A- menu

B- table



C- folder

D- report

E- graph

Answer: 
B, E

Question 7
Question Type: MultipleChoice

During the cutover phase of a project to Implement Oracle E-Business Suite Release 12, you are responsible for converting historical

account balances into Oracle General Ledger from a legacy system. There is no Account Code Combination setup in the Production

Instance. Identify the setup in the Accounting Key Flex field structure that is required to perform this conversion.

Options: 
A- Define Value Sets and assign them to Segments.

B- Define Segments in the Accounting Flex field structure.



C- Qualify one of the Segments as the Balancing Segment.

D- The Key Flex field Segments have to be enabled and displayed.

E- Select the 'Allow Dynamic Inserts' check box in the Accounting Key Flex field structure.

Answer: 
E

Question 8
Question Type: MultipleChoice

XYZ Corp. has operations In the U.S. and Canada. Within Canada, it has two separate Divisions due to Statutory requirements: one in

Quebec and another in Ontario. How would you define the organization structure for XYZ Corp. from the Information given above?

Options: 
A- two Ledgers, two Legal Entitles, and two Operating Units

B- two Ledgers, two Legal Entitles, and three Operating Units

C- two Ledgers, three Legal Entities, and two Operating Units



D- two Ledgers, three Legal Entitles, and three Operating Units

E- three Ledgers, three Legal Entities, and three Operating Units

Answer: 
D

Question 9
Question Type: MultipleChoice

Identify four features of Workflow Monitor. (Choose four)

Options: 
A- enables you to view your workflows

B- enables you to modify a workflow definition file

C- enables you to download a workflow definition file

D- displays status information for the process instance

E- enables administrators to perform control Operations



F- enables you to search for a workflow process instance

G- provides only summary-level information about individual activities of a workflow process

Answer: 
A, D, E, F
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